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U B DR | B8 L5 HA TREADRE |5z s ThEstORS: U BHR DRR | BB L5 HA TRUSORSE |5 e axm ThEsORS:
100kN/m’ % #8% B X 13 100kN/m’% 8% 5 X i3
ADKES| THEE | IOARES| TR | AOAES| TRE | IOAES| 1A% ADKES| THEE | IOARES| TRE | AIOAES| TRE | IOAES| TA%
DI3ERK| OBE | 03EBRAX| 0B | 03BRK| OB: | 05BEA| o5 DI3LRA| OBEE | 03tRA| oBE |03BRA| 0B | 0dbRK| o5
2 0) 2 0) 3 0) 2 0) 2 0) 2 0) 20 2 0)
(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 2 = = 100.0 1.0 = = 12.4 2.5
2 3 132.5 1.0 100.0 1.0 = = 134 2.7
3 4 127.2 1.0 100.0 1.0 = = 134 2.7
4 5 117.6 1.0 100.0 1.0 = = 11.9 2.4
5 6 116.3 1.0 100.0 1.0 = - 10.9 2.2
6 7 = - 100.0 1.0 = - 10.9 2.2
7 8 = - 45.0 1.0 = = 12.3 2.5
8 9 = = 60.4 1.0 = = 12.3 2.5
9 10 = = 60.4 1.0 = = 12.1 2.4
10 11 = = 46.1 1.0 = - 12.1 2.4
11 12 = - 50.3 1.0 = = 11.0 2.2
12 13 = - 100.0 1.0 = - 12.3 2.5
13 14 133.8 1.0 100.0 1.0 = = 12.3 2.5
14 15 = = 100.0 1.0 = = 12.1 2.4
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